ALARIL SYSEM

ARS’
ALIA YARD

:Z,j TOYOTSU TECHNO CORPORATION




ALARIL SYSEM

Safety bracket Drop prevention safety wire

Middle stopper

End track

Hose trolley Trolley (Plate type) Trolley (Standard type)

* This photo is only to show the components.
* Do not connect the traverse rails.
* Attach the safety bracket to both ends of each rail.

Mechanical properties of A6063S-T5 (205) Cut length

Tensile strength | 225MPa im ARSLOO-ART.CIOO

Tensile
) P .

properties Yield Strength [ 205MPa m ARS[IOC-AR2.[]C10C]

Elongation 8% (1.6mm thick) 3m ARS[-AR3.CIC]
Brinell hardness 75 (10/500) 4m ARSJ-AR4.0J0I0)
Shear strength 120MPa 5m ARSIOI-AR5.0000]

. 70MPa 6m ARSIJ-AR6.00]
PRI B IEE (Rotary bending for 5x108, times at 10,000rpm)
* Write the series name in [J[1[], and the rail length (m) in AR-L1.[JCJC].

Modulus of longitudinal elasticity | 68,000MPa




B Arssoo i

80

67

:

14.4

120

47.6

ol Jo

66.6

16

o0

@y

80

67

6

14.4 )

O

100

47.6

67

i

o/m)

@ey

63.6

25.4 NS
— NS LTJ
100 90
trse'.gtfran%ent Alumite (9) + Clear coating (7) | Material| A6063S-T5 (205) ti‘;qﬁ]%ent Alumite (9u) + Clear coating (7p) | Material| A6063S-T5 (205)
Geometric — — Unit Geometric — — Unit
momentof nerta| 'X=383.3X 10 ly=337.6x 10* | 0 | 8.5Kg/m momentof neria| 'X=223.5% 10 Iy=209.0x 10* | /0%, | 5.8Kg/m
57
a7 52
24 42
w
] -
]
©
o 0O G @ O €]
F T
N T °
3 50 @ <
: [\ o ¢
o
I \Q Q@ »
20 36 \ M6
36 \ M6 60
60
purface | Aumite (9y) + Clear coating (71) | Material| A6063S-T5 (205) purface | Aumite (9y) + Clear coating (74) | Material | A6063S-T5 (205)
Geometric _ — Unit Geometric — — Unit
momentof nerta| 'X=99-3% 10* ly=80.6x 10* | [0, | 4.7Kg/m momentof nerta| 'X=67-1% 10* ly=61.4x 10" | 0%, | 3.6Kg/m
a2 } 30
*10. 3 103
6.3 6'
. } B
QL:p
8 o) 8 O
8| | -
©
& ° 27
N 0
o -
i 2
15
19.6 15
27. 2 20
qourface | Aumite (9y) + Clear coating (7y1) [Material| AB063S-T5 (205) peutace | Alumite (9y) + Clear coating (74) |Material | A6063S-T5 (205)
Geometric — 4 = 4 Unit Geometric — 4 = 4 Unit
o omefe | X=19.1X10° ly=8.2X 10 weight | 1-8ka/m o omee | X=14.3X 10% ly=5.5X 10 weight | 1-3Kg/m




ARS500 Series

230

|
Attachment to H-beam requires |
hanger spacers, which are l
|

|

| Max 125 pin 75

available upon request.

113~133

100 (ARS500)
120 (ARS500H)

Standard lift-preventive type Unit | 3 7Kg

which are available upon request.

Standard type WUe’i‘ght 3.5Kg
m Hanger M ARSSOO'HN1 -F Attachment to H-beam requires hanger spacers,

Section A

Section B

weight
B2 Hanger 2% ARs500-HN2

Attachment to H-beam requires

hanger spacers, which are
available upon request.

.

Max 125 Min 75,

oo
—
S

°> [o] o
o0 b
r@' @I i
Parallel type w%right 3.1Kg |
m End track w ARS500-ET4B ]
7. 7. @EE) i
© Jd P . O A M) s
%‘#
R 3
Both-side hinge type woght| 3-1K9 R




m
>
o
N
o
QL
>
=)
(7]
a
o
?
m
-
[
>

©) ©@L®

el Jeol Jo
e —

113

. y '
100 (ARS500)
120 (ARS500H).

100 (ARS500)
120 (ARS500H)

Unit
weight 2.6Kg

One-side hinge type

m End track M ARS500-ET6A

S500H) |

(AR

100 (ARS500)

©EIGIC
el Jo

120

@l |
e i
\JOF |
=
i i Unit
500 rail & 200 rail we?glght 2.4Kg

M End track m ARS500-ET7A

|
©)
g
100 (ARS500)
120 (ARS500H) |

149~169

81

500 rail & 200 rail -

MTrolley m ARS500-TR3A

©E.()

e _Jeol Jo

= ‘&Y'O Q O\/

49 77 |\

150 (ARS500)
170 (ARS500H)

53

175

Standard type er?gl;tht 1.3Kg For R (curve) rail, use the dedicated trolley.




[N rroliey 2 ARS500-TR4A

fof-To

e Je

7
© O ©

193 (ARS500)
213 (ARS500H)

e

L

Hexagon bolt M10x55 (10.9)

Hexagon bolt M16x60 (10.9) | U-nut for M10
25
U-nut for M16

Plate type erri]githt 2.1Kg For R (curve) rail, use the dedicated trolley.

@ | -
':;j o
%

m Middle stopper m ARS500-MS2

e
@.Ll

Standard type lee?gi;tht 0.9Kg

o o
o0 DoJ f i
=
65 20 65
(172)

Unit
Brake type cioh] 0.9Kg

M Middle stopper m ARS500-MS4

. e O e
i i
29 |20] 65
173

Damper type W%ri‘githt 1.3Kg




Unit
weight 0.5Kg

Unit
weight 0.8Kg

181 (ARS500H)
| &

j H

B

161 (ARS500)

m Connection kit m ARS500-CN1A

| ———i i
8
|
L p— - —
130 1 5_‘1 5

wonght| 08K
M Hose trolley m ARS500-HT4
T o
|
waight| 03K




ARS500H Series

[ End cap 2 ARS500H-EC1

..........




ARS200 Series

m Hanger

m ARS200-HN1

Attachment to H-beam requires
hanger spacers, which are
available upon request.

230

Max 125 pin 75

Standard lift-preventive type Unit | 5 gKg

weight

Attachment to H-beam requires hanger spacers,

which are available upon request.

Parallel type

Unit
weight 2.9Kg

Attachment to H-beam requires
hanger spacers, which are
available upon request.

i

230

79

70 (ARS200)
81 (ARS200H) |

w End track

w ARS200-ET5

One-side hinge type

Unit
weight 1.2Kg




Standard type

Unit
weight 0.6Kg

107 (ARS200)
118 (ARS200H)

For R (curve) rail, use the dedicated trolley.

= rrolley

8
22
® 53
Hexagon bolt M8x45 (10.9)’ ol
it
Hexagon bolt M10x50 (10.9) |_25_| U-nut for M8
I | U-nut for M10
Plate type w%?gi;tht 0.9Kg For R (curve) rail, use the dedicated trolley.
[ widdle stopper ] ARS200-MS2
o o L r.‘:
=8 | B
L_s8 | 20
—70 -}
Standard type WUe’i‘ght 0.7Kg
(B2 Middle stopper [I] ARS200-MS3
° o T
s

Brake type

Unit
weight 0.7Kg

70




Damper type P

weight 1.0Kg

20, 50

99 14

[ End cap 2 ARs200-Ect

Unit
weight

0.2Kg

] g
oz
M Connection kit m ARS200-CN1

Unit 0.4Kg

weight

_10_




S OBO
@ )

(157.5)

(126.5)

(47)

Unit
weight 0.2Kg

ARS200H Series

Attachment to H-beam requires | 230
hanger spacers, which are [ Max125  pir 75 |
available upon request. | E‘
1
Standard type w%?étht 3.1Kg
M Hanger M ARS200H'HN1 -F Attachment to H-beam requires hanger spacers,
which are available upon request.
Section A (= _p= . B
<~ Section A Section B
/ \
B O O
Standard lift-preventive type thjerilght 3.2Kg

_11_



Both-side hinge type Unit

1.5Kg

weight
m End cap

=% ARs200H-EC1

Unit
weight

0.3Kg

L7

M Connection kit w ARS200H-CN1

Unit
weight

0.5Kg

_12_




ARSO050 Series

m End stopper

m ARS050-ES2

Unit
weight 0.1Kg
m Hose trolley w ARSO050-HT4
2 #
= == 0)o(o
sy ]
! :)
- .
Unit
weight 0.2Kg

m Connection kit m ARS050-CN1
9

w%?gi;tht 0.3Kg
m Rail hanger m ARS500-RH1 PR m
o = 8| Hpe

e—— <. E B e —
= %@ a ﬂj] 0
| @ 3 ! ) OL—:El
45 | —r |
= 108 J
w%?githt 0.2Kg
m Rail hanger m ARS200-RH1
—_—10E

Unit
weight 0.1Kg

©
H=TT

_13_




Relationship Between The Suspension Span
And The Permissible Suspended Load

Suspension span L (mm)

v

v

|

|

Permissible suspension load P (kg)

1000
—e
NN
—O\% \\ \\

xa 100 %& \n\
- AN N\ N L
o NG N N e
S \\ \\ 3
o ® N Na
& 40 \T\\ \\ \\
K7)
& 30 \\ \l\\ ~ ™
7 N
n 20
i’ S Y
Q
0
R
E 10 ib\
) 9 L
o 8

7

6

5[] | | Suspension span L (mm)| \

arl K > EAN

= e ~

2 [ \'7

Permissible suspension load P (kg)

Permissible Suspended

Load List (kg) I [ [ | [ [

—_— Swpensonsien 1 1000 | 1500 | 2000 | 2500 | 3000 | 3500 | 4000 | 4500 | 5000 | 5500 | 6000
ARS500H | 500 | 500 | 500 | 364 | 253 | 186 | 142 | 112 | 91 75 63
ARS500 500 | 500 | 310 | 199 | 138 | 101 78 61 50 41 34
ARS200H | 200 | 200 | 147 94 65 48 37 29 24 19 16
ARS200 200 | 177 | 100 64 44 33 25 20 16 13 11
ARSO050H 50 50 28 18 13 9 7 6 5 4 3
ARS050 50 38 21 14 10 7 5 4 3 3 2

_14_

ARS500H

ARS500

ARS200H
ARS200

ARSO050H

ARS050



M For inquiry or request B Sales Outlets

Z“ TOYOTSU TECHNO CORPORATION

50, Higashisumiyoshi, Tsutsumi-cho, Toyota, Aichi 473-0932, Japan
Tel: +81-565-53-3211 Fax: +81-565-53-1293
http://www.toyotsu-techno.net

* The specifications of products which appear in this catalog may be changed at any
time without prior notice.

* Due to printing conditions, the product colors which appear in this catalog may
differ somewhat from the actual product color.

* Do not use the product for purposes other than those indicated in this catalog.
Please contact TOYOTSU TECHNO CORPORATION before attempting to use the
product for any purpose not indicated in this catalog.

* Unauthorized excerption, copying, or reproduction of this catalog contest is prohibited.

2017-06




